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OXtg & et 4,600
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03 Al =X A2 =X 3,000 3,000 0
OMSAE =24 & AZX0AHE F&A 3,000
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OAX=TZA @XelAld FHl 390,000
OdUd=a 2238 &9 10,000
Ot oflnstlnl 2% FHl 500,000
S3HSAE &5 6,551,292 7,520,000 A 968,708
& 1,300,000
s 5,251,292
goil? =2 HMs4H 2,700,000 4,100,000 A 1,400,000
401 Al& I 28I 2,700,000 4,100,000 21,400,000
01 A& HI 2,492,500 4,100,000 A 1,607,500
O=2HsdH A 2,492,500
02 Zeltl 200,000 0 200,000
O=gxsdg 28 200,000
03 AIE 2 0HHI 7,500 0 7,500
O=2HsdH A 7,500
dHAZ=DI ¥Io0lC 3,300,000 2,700,000 600,000
& 1,300,000
= 2,000,000
401 Al Bl 2B 3,300,000 2,700,000 600,000
= 1,300,000
= 2,000,000
01 A& HI 3,290,100 2,700,000 590, 100
OAX=03 40l 3,290,100
& 1,300,000
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H16S EHZE (AtHE) Olo=E3 51,292 0 51,292
401 AIEHIZ 201 Y| 51,292 0 51,292
01 Al&H| 51,292 0 51,292
OFEHEHLAE dlil=2F 11,081
OHFHEAOIE=ZE sil=7+ 17,007
OMSHOIE=ZE $oll=71 16,335
HdHAZXIZA S=oH=2EF 6,869
AIX OIAE 2,486,258 2,664,842 A 178,584
J| 136,573
= 48,916
= 2,300,769
MeEds 4 € X 580,458 626,502 N46,044
J| 136,573
= 21,916
iy 421,969
MEE XIS A BHXI 179,760 179,760 0
J| 77,280
= 102,480
307 QI2t0| ™ 179,760 179,760 0
J| 77,280
= 102,480
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OXNEX =& 116,928
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o4 282 20,412
J| 10,206
= 10,206
OOl 17,220
J| 8,610
= 8,610
OstsEXZ2(XHH) 25,200
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J| 44,160
= 58,560
307 giztol A 102,720 77,040 25,680
J| 44,160
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2 7,000
NEHNSES XA 492,800 471,800 21,000
T 27,000
= 465,800
SAMdE 2 287,200 257,200 30,000
301 LprE a3 287,200 257,200 30,000
MU=t - 2s2SE42 287,200 257,200 30,000
=1t 210,000
Og=sdtl 41,000
Oz &bl 6,000
OBg & o3 10,000
OSgAaH3 3,000
@)= ESE=10;] 10,000
O=2JEde = 7,200
SAMSE X3 27,000 20,000 7,000
T 27,000
301 dEtEAZ 27,000 20,000 7,000
< 27,000
NMolsHta - 2sSESEA2 27,000 20,000 7,000
OF=ZU3 LU E g=s=dd| 27,000
= 27,000
sAN= A 178,600 154,600 24,000
307 QI2t0| ™ 143,600 79,600 64,000
02 DI2tF A Y X 143,600 79,600 64,000
OFEM=XNEX K& 33,600
O staAs XN 10,000
OxM=s 2t XA 12,000
Os4d sS2NECL €4 24,000
QuUrieEsEdsEs XN 40,000
OdldsSHsES 2N 4 24,000
308 AXISHXSO0IH 35,000 75,000 A 40,000
06 nEI|IZ0UStEL= 35,000 75,000 AN 40,000
OstnAZXZIHMUNSE S 35,000
g 29 ¢ XN& 1,413,000 1,566,540 AN 153,540
=03 SX L M=z 1,000,000 1,000,000 0
307 212t01 & 1,000,000 1,000,000 0
02 A2tFAMNE X 1,000,000 1,000,000 0
O=H & M=2U3 22 800,000
OddYx & 249 U3 XA 130,000
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EAM: MEAIEASE A
N @MY SA
Sl ZTHSAL 29 CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Oz d|(&CI2el &) 18,000
OXteksety| (ROl 22 X S SR 2el) 8,000
206 M = Hl 111,000 104,000 7,000
01 X2 H| 111,000 104,000 7,000
O=24d2s%d 2el X 11,000
OAZXTA 22| A 65,000
OtU=x - A= 022 UM 35,000
AR H2A=Y 152,101 162,372 A 10,271
AR s X4 152,101 162,372 A 10,271
101 Q124 H] 25,301 25,572 N271
04 JI2ZtHIZ2 2 NEE 25,301 25,572 N271
OS&C| AMA- THOH (40 A ) o182 25,301
201 et 76,800 73,800 3,000
01 AP 2t 2] H| 65,800 62,800 3,000
Qo2 AA (ZHEH) 4,800
Ooeterg &Il S 5,000
OAZxFH2A=Y 22X Xt 38,000
OXeA Xt (5t) 15,000
OXCIMEIEY EJSE =& 3,000
02 2% H| 11,000 11,000 0
OXsotse &II=2 6,000
O&ClI &Yl &X 5,000
206 M = Hl 50,000 50,000 0
01 =4l 50,000 50,000 0
OAZXAFAASY ANYEUI M= 50,000
HESHAH (MSAIEASA) 50,835 397,676 N 346,841
JlE&ddl 50,835 62,070 A 11,235
Jl2dH (HMEAEE) 32,835 41,070 N8,235
201 et | 8,515 12,050 N 3,535
01 AP 2t 2| bl 8,515 12,050 N 3,535
OZNSY LBt=24| 6,240
OZNE&d S| 2,275
202 044 20,800 25,500 A4,700
01 2L Y| 20,800 25,500 AN4,700
OS89 ol 1,300
O=2U 0 H| 19,500
203 €2 F=&d| 3,520 3,520 0
02 HRIIAHR2FAH| 520 520 0
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chelr D123l (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

OISR F= &Y 520

04 ENSIHRF=EHI 3,000 3,000 0
ORA2EIRFAH| 3,000

JI2dH(AZ=0IAHEE) 9,000 9,000 0

202 Oddl 9,000 9,000 0

01 = LHAYI 9,000 9,000 0
O3 HI 9,000

Jl2dul (LS E) 9,000 12,000 23,000

202 oddl 9,000 12,000 A 3,000

01 = LH o4 1l 9,000 12,000 A 3,000
O=UW 0 bl 9,000




